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 BLP-001  

CERTIFICATE IN SERICULTURE 

(CIS) 

Term-End Examination 

June, 2022 

 

BLP-001 : INTRODUCTION TO SERICULTURE 

Time : 2 hours Maximum Marks : 50 

Note :  Attempt any five questions. All questions carry 

equal marks. 

1. Define any ten of the following : 101=10 

(a) Sericulture  

(b) Grainage      

(c)  Stakeholders  

(d)  Cocoon 

(e)  Silk 

(f) Pest 

(g) Cellules 

(h) Diapause 

(i) Pupation Rate 

(j) Reelability 

(k) Bale 

(l) Silk Grade 
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2. (a)  What are the major constraints faced by the 

silk industry in India ? 5 

(b) What are the major importances of 

sericulture at the national level ? 5 

3. (a) Explain the different kinds of training 

required in sericulture. 5 

(b) Elaborate the changes in sericulture 

industry that determine the training needs 

of human resources. 5 

4. Write short notes on any four of the  

following :  4
2

1
2 =10 

(a) Contribution of extension functionaries in 

sericulture   

(b) Potentialities of sericulture in employment 

generation  

(c) Role of Non-Governmental Organizations 

(NGOs) in promotion of sericulture in India 

(d) Reeling of cocoons 

(e) Tasar silk     

5. What are the different methods of silkworm 

rearing ? Discuss the various operations 

required for the rearing of silkworm.  2+8 
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6. Explain the uses of litter by-products of 

silkworm rearing.  10 

7. Enlist the various activities involved in reeling 

process. Discuss the process of stifling of 

cocoons.  5+5 

8. (a) Discuss the managerial skills required to 

manage a silkworm seed production unit.  5 

(b) Differentiate between compost and 

vermicompost.  5 
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 ~r.Eb.nr.-001  

aoe_H$sQ> nmbZ _| à_mU-nÌ  
(gr.AmB©.Eg.)  

gÌm§V narjm 

OyZ, 2022 

 

~r.Eb.nr.-001 : aoe_-CËnmXZ H$m n[aM` 
g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

 ZmoQ> : {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$  
g_mZ h¢ & 

1. {ZåZ{b{IV _| go {H$Ýht Xg  H$mo n[a^m{fV H$s{OE :  101=10 

(H$) aoe_-CËnmXZ  

(I) ~rOmJma  

(J) bm^mWu (nUYmar) 

(K) H$mogm 

(L>) aoe_ 

(M) nr‹S>H$ 

(N>) goë`yb 

(O) Cna{V 

(P) ß`ynm ~ZZo H$s Xa 

(Äm) YmJmH$aU j_Vm 

(Q>) Jm§R> 

(R>) aoe_ loUr 
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2. (H$) ^maV _| aoe_-CËnmXZ CÚmoJ Ho$ Ûmam gm_Zm H$s OmZo 

dmbr à_wI H${R>ZmB`m± H$m¡Z-gr h¢ ? 5 

(I) amï´>r` ñVa na aoe_-CËnmXZ Ho$ à_wI _hÎd Š`m h¢ ? 5 

3. (H$) aoe_-CËnmXZ Ho$ {bE Amdí`H$ à{ejU Ho$ {d{^Þ 

àH$mam| H$s ì`m»`m H$s{OE & 5 

(I) aoe_-CËnmXZ CÚmoJ _| CZ n[adV©Zm| H$s {dñV¥V 

ì`m»`m H$s{OE Omo _mZd g§gmYZm| H$s à{ejU 

Amdí`H$VmAm| H$mo {ZYm©[aV H$aVo h¢ & 5  

4. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{jßV {Q>ßn{U`m±  

{b{IE : 4
2

1
2 =10 

(H$) aoe_-CËnmXZ _| àgma H$m`©-V§Ìm| Ho$ `moJXmZ 

(I) amoµOJma CËnÞ H$aZo _| aoe_-CËnmXZ H$s j_VmE± 

(J) ^maV _| aoe_-CËnmXZ H$mo ~‹T>mdm XoZo _| µJ¡a-gaH$mar 

g§JR>Zm| (EZ.Or.AmoO.) H$s ^y{_H$m 

(K) H$mogm H$m YmJmH$aU 

(L>) Q>ga aoe_ 

5. aoe_ H$sQ>nmbZ H$s {d{^Þ {d{Y`m± H$m¡Z-gr h¢ ? aoe_ 

H$sQ>nmbZ Ho$ {bE Ano{jV {d{^Þ H$m`m] H$s MMm©  

H$s{OE & 2+8 
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6. aoe_ H$sQ>nmbZ Ho$ {dð>m CnmoËnmXm| Ho$ Cn`moJm| H$s ì`m»`m 

H$s{OE & 10 

7. YmJmH$aU à{H«$`m _| gpå_{bV {d{^Þ J{V{d{Y`m| H$s gyMr  

~ZmBE & H$mogmAm| H$s pñQ>\²$qbJ H$s à{H«$`m H$s MMm© 

H$s{OE & 5+5 

8. (H$) aoe_H$sQ> ~rO CËnmXZ BH$mB© Ho$ à~§YZ Ho$ {bE 

Amdí`H$ à~§YH$s` H$m¡ebm| H$s MMm© H$s{OE & 5 

(I) H$ånmoñQ> Am¡a d_u-H$ånmoñQ> _| A§Va ñnï> H$s{OE & 5 


